H & 0l & AHS B Ml A

FA: otd 2|t
M MEISIR AA
ol EE dE=d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot 2te| ot 10,881,4% 14,009,907 A3,128,411
= 597,000
[ 919,000
= 3,610,200
Al 5,755,296
MEfote = 10,126,800 13,010,907 N2,884,107
= 597,000
[ 919,000
= 3,598,200
Al 5,012,600
Ed dE=E 24,000 25,000 21,000
Ed =A2 24,000 25,000 A1,000
201 Ler=23 | 7,000 8,000 A1,000
2 s5=34l 7,000 8,000 1,000
oLsd dies S 7,000
401 Al HIZ S OHbI 17,000 17,000
01 A28l 17,000 17,000
OoL&d 52 M= 2LIHE &4 17,000
ot e 7,952,800 12,735,907 A\4,783,107
= 597,000
[ 919,000
= 3,598,200
Al 2,838,600
HENSE RXA2tel 60,000 60,000 0
201 er=23| 30,000 30,000
01 AtR2te|Hl 30,000 30,000
OdEiotEIIFI| S A=A 30,000
206 M=l 30,000 30,000
01 M=4l 30,000 30,000
OdEiote FXl2tel 30,000
MEHSHA (AlESQt) 2te| 200,000 200,000
401 Al HIZL S 0HYI 200,000 200,000
01 Al&HI 200,000 200,000
OMENTHA (AIES0t) 2tel 200,000
2otd EHIAIY 20,000 20,000 0
401 AlEHIZ S 0HbI 20,000 20,000
01 Al&H| 20,000 20,000
O2otd ZHIAY 20,000
S MY RA=2= 360,000 220,000 140,000
s 180,000
Al 180,000
401 AIEHIZ SR OHYI 360,000 220,000 140,000




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 180,000
Al 180,000
01 Al&H| 360,000 220,000 140,000
OstE MY FX2= 360,000
= 180,000
Al 180,000
Agotd eZdsl 300,000 300,000
401 Al HIZ S OHbI 300,000 300,000
01 AlZ2H| 299,000 299,000
OXlgotd eZ 3| 299,000
03 Al 20HHI 1,000 1,000 0
OXlgotd =FEH| 1,000
HENotEEE 25 € 29 NE 65,000 141,307 AT6,307
307 elztol & 65,000 141,307 AT6,307
02 2B YA E X 12,000 35,180 N23,180
OMEHIEE S 8= 12,000
03 PIZHHEE 22X 53,000 106, 127 A53,127
OHMEHIEE S 2SI 53,000
=Itotd =X 2= 520,000 520,000 0
= 520,000
401 AIEHIX SO 520,000 520,000 0
= 520,000
01 Al&H| 519,000 519,000 0
O=Jlotd {2+ 519,000
= 519,000
03 Al 20HHI 1,000 1,000 0
O=Jlotd 72+ 1,000
= 1,000
otMGt= Med] FStAtY 110,000 110,000 0
= 77,000
Al 33,000
101 e124d| 92,000 92,000 0
= 64,400
Al 27,600
M ORIMZZ2NSE S 92,000 92,000 0
Ovdtdst= X¢0] otk 92,000
= 64,400
Al 27,600
201 er=23y| 18,000 18,000 0
= 12,600
Al 5,400
01 AtR2t2|HI 18,000 18,000 0




FA: otd 2|t
HE: MEHSHE X4
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OvdtAst= X¢0] HotAr 18,000
= 12,600
Al 5,400
AT dEoH SEAY AtE2ic 20,000 20,000
401 Al HIZ S OHHI 20,000 20,000
01 A28l 20,000 20,000
O8d HEfold SIS Atz 2l 20,000
a8 BXE0] 2l 30,000 30,000 0
206 M=H| 30,000 30,000
01 MHZH| 30,000 30,000
A BR=0] 22 30,000
XSt HH(S &) (HEALY) 3,878,000 5,864,600 1,986,600
= 3,064,600
Al 813,400
401 AlZHIZ 2018 3,878,000 5,864,600 1,986,600
= 3,064,600
Al 813,400
01 A28l 3,878,000 5,861,100 1,983,100
OXgotdHHI(S8d) 3,878,000
== 3,064,600
Al 813,400
HF=H - & o0l ot =FHIAY 550,000 0 550,000
401 Al HIZL 201 550,000 550,000
01 Al&H| 560,000 550,000
OXFE - && THoHOIY SH=FHIAIY 550,000
AL Mo S X SHIA 1,768,000 0 1,768,000
= 884,000
& 363,600
Al 530,400
401 Al HIZL 201 1,768,000 0 1,768,000
= 884,000
< 353,600
Al 530,400
01 Al&HI 1,768,000 0 1,768,000
OALE THoHASXI 7 FUIAL 1,768,000
s 884,000
s 363,600
Al 530,400
aotd NS HSAAE 70,000 0 70,000
= 35,000
Al 35,000
401 Al HIZL 201 70,000 0 70,000




FA: otd 2|t
B MEGHE A4
=HSE (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 35,000
Al 35,000
01 Al&H| 70,000 0 70,000
OAotd AS+=2 HSAAE 70,000
= 35,000
Al 35,000
ot 2te| gRFA 1,800 1,800
203 2=l 1,800 0 1,800
03 A=A PR FZ| 1,800 0 1,800
Odtd 2| R 1,800
lrSiEeE= ! 450,000 0 450,000
old SS3EA EXIAY 200,000 0 200,000
401 AlEHIZL SO 200,000 0 200,000
01 Al&HI 200,000 0 200,000
Ootd SS3&d ZXAY 200,000
3, 84 S At 250,000 0 250,000
401 AIZHIZ SO 250,000 0 250,000
01 Al&H| 250,000 0 250,000
OdFd, a4d 2FIHH At 250,000
Ol=d dEH=sa 1,700,000 0 1,700,000
MBI SJA (OIS ) (HEALY) 1,700,000 0 1,700,000
401 Al HIZ R 0HHI 1,700,000 0 1,700,000
01 AlZ28| 1,302,000 0 1,302,000
OMEHSIE =AM (0ISH) 1,302,000
02 2l 398,000 0 398,000
OMEHSHE S RAAI (0ISH) 398,000
=HEd 2F LA 726,000 999,000 A273,000
s 12,000
Al 714,000
I A2 726,000 999,000 A273,000
[ 12,000
Al 714,000
HEQEMZAIE |2t 366,000 356,000 0
201 Ler23 | 366,000 366,000
2 35244l 366,000 356,000
OHIEQEMNBAIE Al 356,000
LIDAIZ 2LIEE & =X2cl 200,000 350,000 A150,000
201 fer23| 200,000 350,000 150,000
02 S3=gl 200,000 350,000 150,000
OLIDAIE ZLIEHE & RAl2e 200,000
25 desE 29 110,000 113,000 A3,000
201 et 3| 110,000 113,000 A3,000
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